AR A Agig i A i iG A GGG S i S ASASA S S AGASASAS A SA A SASAS A SASASASASASASASASA AL

08022 ANSWERS
Division
WALT: divide using the gate method.

I Sl'QI"

| 48+2=24
2 69+3=23
3 88+4=2
L 65+5=13
5 SI+3=17
6. 396 +3=132
1 82 +2 =L
8 48L+ik =[]
9 560+5=12
753 +3 =25l

2 dlars i% ik

| 8k +4=7

2. 63+3=1
3 75+5=15
b 96+ 4 =24
5 8k+6=Ik
6. 705 +5 =4
1966 =6 =16l
8 896 + 4k =224
9 786+ 6 =13l
10. 798 = 7 = ll4
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- Yeicdr

| 84 +4 =2l

2 96+6=16
3 WB+T=1k
b 89+9:=9
5 968 +8=12
6. 763 +7=109
1 564 +6=9%
8 98L+8=123
9 T8L+T=12
0. 738 +9=8
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